@ kW

EI@RANE

ErPave B
EHY DFEARY HB
(2%a754%7T)

Bl : A B

| 4

N

N
R 2009 %,
=

I'kg

//?OOg 600g
Z
/,/// , 800g \\\§
%, | N
Wity 'S AW
’//////llmu||u\\\\\\ \

0

gy,
wa\ | /%%b
N 2%kg ",

o

4009

&z \
””/llllmlluu\\\\\ \

0

\ \\\\\\I|I|IIM[III/ A
\\\\\\\\\ / ’///////
g

200g

//7,,
"I
)
7,

S =
«Q

Og

\\\\l\lllllll’l

N\
W \
N

S
O

(e

o

o
«Q

2

W

AN
”/mluuhu\\\\\\ W

Y,
7/

7
//////

@

0]
(i
ay | [y,
&\\\\ /’///////
N 7
N 009 Z
X Z
S Z
s 400g-Z
£ kg ]
£ 500 =
Z 9 600g =
Z S
%, 800g N
%, N
%, N

“ly, 9 W
// ”//Illhm|lm\\\\\ )

FANTI L &I,

D ZolErY TIlL. ﬁkg 7T
TN F 9 5,

£

Q@ WHBIEANMTWIHD YL,
fgaeilTVWEIH,

L7




EVDBAWNE
ErPae B

Y DEARY HE
(2%¥0754LF7T)

| 4

Bl :

2F A

| rYosLTtw2zESIEEETIL LS,
®

0
‘&“NNW“PWW¢”

///
My,

200g /4

N

S
S
S
S

4009

I'kg
500g

qummmmy

600g

\\
W%MmhMmNN

W
N@\
\\\‘
///

//////

800g

7
é@/ \f
7,

I,
WmMMmmNN

_— kg 600%

S REILDEIE, ANI L & I,

0
mnﬂmum

N

%
O

N
N 2009 2,
S Z
= 4009-%
£ lkg =
= 200g 600g =
=z =
Z. N
% S
A 800g N
%, N
Y, W

N\

”%MMANNN‘

@ 5>Fk

@ T &EX

@

0
“mmwmmm”

& %,
g\ 2009 /%
S %
i 4003%
£ lkg E
£ 500 =
= Sxvg 600g_=
= 3
% 800g

Z 9.

N
\\\‘\

g N
“y, N
mMMMﬂmmN““

_— kg 200%

D ZolErY TIlL. ﬁkg 7T

x93 0%,

2

L7

kg

@ WHBIEEANTWIHD Y I,

gzRlLTVETH,

EA 10 .
g1: 900,
WTBIBRYAY



